b Profeiinl PROFESSIONAL EXAMINATION BOARD
Bb@mminqtion Middle School Teacher Eligibility Test - 2018
board 18th Feb 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

1) Which of the following is not a child-centered learning practice? / fArafaf@a & @ sia-ar
TS FTd-higd ATOIA T 39T AL 7?2

1. Make the student more active in acquiring knowledge and skills / =TT IR plera wfoa
A BT B HAF \ihT a1

2. Make the student more aware of what they are doing and why they are doing it / ST &I 38 dR
# 3P ST &1 6 7 Far A W § 3N F W W T

3. Working under teacher’s direction and decisions / frerer & fAder 3k Aot & ded &rHA
CGIN

4. Focus on interaction, such as the use of tutorials and other discussion groups / UREUR® [a<aR-

faadt W e dfga &, A 6 gaRae 3R 37 gat gt & 3uAT S|

Correct Answer :-

« Working under teacher’s direction and decisions / frerer & e ik Aot & asa &
hIAT|

2) Which of the following is used in tests of attitude? / fAFAfAf@dT & T fFEwT 3TAT ﬂ?ﬂqﬁf
& qdieton F fFaAT ST 82

1. Aptitude test / TTHETHAT TLIETOT
2. Achievement test / SUITe)T TULI&TUT

3.1Q test/gﬁ_ﬂ?ﬂ TY&ToT (3-11%3—7{ <¥T)
4. Likert scale / forpe Thol

Correct Answer :-

« Likert scale / folehe Thol



Multicultural awareness in the field of education includes the appreciation for and understanding of

differences in students in terms of their ) R F AT A mﬂﬁfﬁﬁ? SITTEhdT H
ELLCY ¥ wesf ¥ ot F Fasel #r wwer 3R wEaAT arfder ¥

1. skills and abiliﬁes/ﬂ#?lﬁ\?ﬂ'{m

2. special needs and giftedness /ﬁf@l’ﬁr TIIHAIT 3R SUTR

3. socioeconomic status and religious backgrounds/ﬂlﬂli?laﬁ -3 RRufa ik ‘iﬂﬁ?-ﬁt[gﬂ-@

4. behaviours and dispositions / SIdg I TaamE

Correct Answer :-

- socioeconomic status and religious backgrounds/ ETHTTSI -3 Ffd 3R arfdie gssfa

4) The anti-anxiety drug is a drug whose primary behavioral effect is the reduction of anxiety but it
functions as Central Nervous System (CNS) ./ fo-T'FI'IT:I' qdl, Th Qﬁ odl % raeT
UTIUfAP TGER UHTE, foidT B $H Hd1 & Afe a8 $eig diFer aF (FeTeH) & Fu d
SR Bl 3:

1. Activator/ 3cUXeh
2. Depressant/ 3dHIGh
3. Stimulant/ 3deld

4. Modifier/ TMIH

Correct Answer :-

« Depressant/ 3ddlGh

5) Which of the following mainly causes children to fail in examinations? / efaf@a & @ #l9-
A AET T § Fodl F a3t & FAG g FT FROT Tofal 82

1. Environment in the classroom / h&IT T giRaer

2. Physical strength / SIIR@® <1k

3. Fear of Examination / GQI&TT T 3T

4. Lack of patience during examination/tlﬁ&:lT & eI &I A HaAY
Correct Answer :-

« Fear of Examination / G{I&IT &T 3T



6) “Learning by doing” is when learning is: / “HIP HRGHT” a9 gidT & oId AfenTH =1 g
f

1. Teacher centred / 8T Picgd

2. Relevant and practical / WTEfTd 3R caasie
3. Passive and theoretical / AR 3R Agifids
4. Rote or didactic / T&aT (Te) IT TRATUE

Correct Answer :-

« Relevant and practical / UTHfIH 3R caraEie

7) Which of the following compares the human cognition to the working of a computer?/

famafaf@a & & Fla Fy & Fwwe F AT Awdy sepfa i o Far 82
1. Neural Processing / dT3ehl Ughal

2. Network mapping / Jeadh AFRFOT

3. Information Processing / AT UshH

4. Mind mapping / #I HTATATOT

Correct Answer :-

« Information Processing / T Hehd

8) Children who deviate considerably from the normal children are known as / St §T2

AT gdi & FIH gcdh 8 8, 376 50 T H AT AT &
1. Autistic children / TIUIUT g (3HifefTed i%|<»g:—|)

2. Abnormal children / 3TEAT Ted
3. Intelligent children / g@m?—r I
4. Exceptional children / 3THTURUT g

Correct Answer :-

« Exceptional children / 3HTYROT g

9) Gender refers to the constructed differences in persons. / sgfFaat & JcYool
Rrewrarat & T (S=X) defdfa Far 8l



1. Educationally / dfeyd sT A

2. Emotionally / HTdelcH® T &
3. Biologically / Sifde& &7 &

4. Socially / GTHIGIG §T G

Correct Answer :-

. Socially/ﬂlﬂliaaﬁ U

10) The psychologist, who conducted experiments of trial and error learning, was ./

F Fdeias &, Segier warer-3 e arftrery & v st wenfora R am
1. Thorndike / ATISSH

2. Kohler / lgeR

3. Skinner / FEhelX

4. Pavlov / UTdelld

Correct Answer :-

o Thorndike / 21I51§I$Eﬁ

11) The term Abstract Thinking refers to / dHHIT fAde e et ¥ gafda &
1. Personality / < fhed
2. Attitude / FATTT

3. Intelligence / Ej?

4. Motivation / 90T

Correct Answer :-

« Intelligence / @

12) The learning that happens in the formal environment is studied by ./ 3ttgaRe
ardraeer # g1 arer rfereT GART AT fHIT AT B

1. Anthropologists / AT =TT

2. Educational psychologists / fI&TT dAAIfa=TTeir



3. Clinical psychologists / ATy HATTARTAT
4. Social psychologists / ATHATTSIh HATI=ATA

Correct Answer :-

« Educational psychologists / 16T FATA=ITAT

13) Which profession uses the aptitude tests most? / fF@ 92 & aﬁqﬁr ST &1 999 s
39T R ST §2

1. Guidance Counsellor/ﬂlaiaﬂ?—r WA
2. Doctors/ RIfehcaes
3. Lawyers/ gehTell

4. Engineers/é?ﬁ%l’q?

Correct Answer :-

o Guidance Counsellor/ﬂlﬂia‘\’i?-f WA

14) Which of the following theories of motivation does not focus in any way on biological aspects
and needs? / farafaf@a & & o 1 Fa-wr Ruia, AT gt A sragwant
W B 8t geR ¥ eae SR 7@ Far

1. Drive theory / 313d &g

2. Hierarchy of needs theory / 3TdRIRBAIN & AGId & UcleishdA
3. Manifest needs theory / UcI&TAT P Fgia & 3maIghar giedr %
4. Instinct theory / il fagia

Correct Answer :-

« Manifest needs theory / UcI&TAT # f{gra &1 3maTHhar gidr ©

15) Which of the following is not considered a cognitive form of learning? / T & &
R4 3o F1 v FACHS T AE AT SATAT 87

1. Vicarious conditioning / 'ylce-lf‘c\-lrpd 31@&\4«1 (FrhRTa wrerfaT)
2. Latent learning / 37ca<h 3T
3. Observational learning / Ta&WUTcH® HIAoTH



4. Classical conditioning / ITEATT 3-1§ET¢JT-[ IR EREGEUGED)

Correct Answer :-

« Classical conditioning / QTEIT 3-1@3?.]?-[ CRIEEREGEUGELD)

16) Which of the following principle can be used to make the students curious about the topic?/

frrafaf@a & & frw Rquia &1 39alr sEl #t Avr & TR F 30qF o= F Ao fma
ST & §?

1. Already know / UEel & TdT (HTeRaSI &)
2. Willing to know / Sedal &1 gTaT (fafelr g &)

3. Not willing to know / STdel &I 3T d @1 (dAfe Tafer () ar)

4. Don’tknow / UdT & BT (3lec =)

Correct Answer :-

« Don’tknow / UdTl & @l (Sl=e AT)

17) Which of the following statements is true regarding a Constructivist classroom? /

fArff@a & & sla-a1 Fya @WaEE (FeecfefiTe) Fam & 90 § a9 2

1. The classroom environment is intellectually, emotionally and physically safe. / & bl dTATAIUI

difge, Aradcas IR Aifds so ¥ Waa = aike|
2. The learning process lacks structure. / 37T UfehdT 3 TTAT HT JHATT BT &

3. Student-student interactions have no role to play in a constructivist classroom. / TIATATG]

(erciFefaee) sem & oF-oF & fg aahd & HS YRS A& el B

4. The method of instruction is purely didactic in a constructivist classroom. / 3% &t faf¥l, Tep M@
e & gofa: fRremie 1

Correct Answer :-

 The classroom environment is intellectually, emotionally and physically safe. / & bl dTATAIUT

i, staeTeae 3R s T & WA Qe R

18) In what type of memory is the skill of riding a cycle stored? / fF®@ &R &Y Fﬁﬁf HwF

ABFT T FT Flrd FART aaT &7
1. Procedural memory / UTshaTcAD AT



2. Iconic memory / UfAHT Hrafeud FHIA (3MSHIfAS AARNT)
3. Episodic memory / Ut TR THTA (TOEITSH HAANT)
4. Declarative memory / ENVUTcH® Fﬁ%

Correct Answer :-

« Procedural memory / UfshaTcHh FHIA

19) Self-improvement is given importance in approaches to personality. / 3TcH-
gUR F sgfFded & TReHON A Fear & St

1. Cognitive / HATATcHD
2. Psychoanalytic / HATILATUTcHE
3. Humanistic / HTAJATET

4. Biological / Sifdeh

Correct Answer :-

« Humanistic / ATTIAE]

20) What is described as the pattern of enduring characteristics that defines a person and

produces consistency and individuality? / T} eyt & dedt & T F Fur afvig & S
wF AfFd F aRena Far § 3 Ruvar vasafaded &1 3eqmeet Fr 87

1. Personality / <dfthed
2. Learning / 3TITH
3. Intelligence / g@'
4. Motivation / URUT

Correct Answer :-

« Personality / dfthcd

21) What kind a learner is a child who seems to learn best when carrying out a physical activity

related to the subject? / & deaT ¥ avg &1 gt ¥ ot vy ¥ wafta sifas
wfafafer F1d gu wa@ 3reoT W §?

1. Aural /¥



2. Reading/writing / UG /oI@ed
3. Visual / T

4, Kinesthetic / ITfaEde]

Correct Answer :-

« Kinesthetic / ITfa@ad)

22) Learning is defined as a process of bringing relatively permanent changes in the

of an organism. / AT H T T & ﬁ'ﬁwm
gRadsr @ it 9fFar & w0 & aRenf¥a R o 3

1. Behavior / <IdgR

2. Thought / IR
3. Personality / < Tthed

4. Intelligence / gi?

Correct Answer :-

« Behavior / <IdgR

23) In the Fearless Peer experiment by Bandura, who played the role of the model? /

&gﬂ@mmwmwmﬁ,mﬂﬁﬂﬁﬂﬁﬂmaﬁ?
1. The experimenter / TINThRdl o

2. The fearless child / 3T = =

3. The friendly dog / ffTad g

4. The fearful child / #IHT d=d

Correct Answer :-

« The fearless child / fAsy a=a &

24) Study of meaning in language is known as: / ST & ¥ & FEATT H 57 ATH F AT
ST @

1. Morphology / HArpiars
2. Linguistics / Telfdaffead



3. Syntax / T&cad
4. Semantics / TQAfeFT

Correct Answer :-

« Semantics / TQAferT

25) In view of Piaget the stage of development from the age 7 to 12 years is called: / f=Imst &
HTAR, 78/ 12 91 A 37 F AF Y 34TEAT F FET AT ¢

1. Concrete operational / 3{%‘[ afehdTcA®

2. Formal operational / iTqamies @fharcas
3. Pre operational / q\?ff-mm

4. Sensory motor stage / HaAGT UM 3raear

Correct Answer :-

 Concrete operational / Hﬁl\?‘f AlRATcA®

26) Four limbs of the body are affected in case of N & A A IR F IR 3T
PENEC RG]

1. Triplegia / @é‘@ﬁm

2. Biplegia / dTgCelfdrm

3. Quadriplegia / FATSICATIAT
4. Hemiplegia / gHICeIorT

Correct Answer :-

« Quadriplegia / FATSICATIT

27) Developing one’s personality helps in / ffdlY & cafddca & AT @ # "eradrn
el B

1. Quicken the process of maturation. / URUeradr &1 UfchaT &l aol &l
2. Increasing body stature. / QR FT e TG
3. Dealing with social situations. / @TdToier Fafaar @ Auea



4. Overcome congenital disorders. / STedolTd TIBRI T hIe ar

Correct Answer :-

« Dealing with social situations. / @THTIh FUfadt & Auea

28) According to Thorndike’s theory, the frequency of stimulus-response pairings determine the
formation of/ UTisTE® & fHEUTd F IJUR, Ia=-gfafhar Fzat A argfa, e 1 T
fauRa = &

1. Reinforcements / Udlelel
2. Habits / 3Td

3. Punishments / 3

4, Conditioning / 3—1@3‘5?
Correct Answer :-

o Habits / 3ITad

29) Which of the following is an example of creative thinking? / fAFfai@d & & Fia TWATHS
faraeT %1 3eTEToT &2

1. Arguing / do T

2. Managing time / 93T Ua4<
3. Active listening / T ST
4. Questioning / U&-dTS
Correct Answer :-

 Questioning / T&-dTS

30) Language is which of the following types of content? / 38T, fAFaIfaf@d # ¥ fFT YR Y
fvT-arg??

1. Auditory / HdUT
2. Pedantic / ®fedrar
3. Visual / T

4. Symbolic / TTdhicid



Correct Answer :-

« Symbolic / TThicih

Topic:- General Urdu(L1GU)

1) L A el ok g : :
R LA CLCIA V¢

1. J:‘J Jﬁr::_uf 0]
L:E /’ ol Jrt
3. JJI’JUKCJ[G‘”T;}I-- o
L'fli.«m :fd r]';} i j}
Correct Answer :-
L:E /’ ol Jrt

2) . 5 3 ) | |
% 87 g
L ety

NP Sy
L LGB A

4 ...i LLFJUT_EE uﬁ

Correct Answer :-



3) ?Jﬁ/‘;’.’ddﬁiuﬂﬁGGJLQ;”KBDFU@J‘JJ‘L

LI

4,

Correct Answer :-

LI

;. L,,"EJL_;I(LU':D”

Correct Answer :-



=

2.

G

3
3. Fiie

&y

4.

Correct Answer :-

P

o
6) _ .
el Lo

A duz
y g Suss
y S S
A SgUzl
Correct Answer :-

. g Lﬂf’}r

7

) R N P
?.-:_.liaf Kl A



Z
3 %

4 a3l

Correct Answer :-

8) _ . r _ .
NV e s SE T Bl p 2 F Y

1. uﬁ“

Jbd
2. -
e
> e ff
4. -
Correct Answer :-

g

9) - P
?.-:_.g_ﬁ{;bfr/lfujy(ﬂ “UE;““L,JUJ;J,CP’:L’IL:"JI

AL

K-
2. -

‘ il
L,Jl;_.{iui,fl
3. k4



b L

4.

Correct Answer :-

AL R

4 4..:57‘?:.5/ =0/

Correct Answer :-

L,‘jf.:.f_,j__,
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IO %e

2.
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u.-‘l.—,-—-b-—-.-‘l

4. -

Correct Answer :-
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Correct Answer :-
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Correct Answer :-



LIS
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, ufkiog s
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, SISz A

Correct Answer :-

DI 2
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Correct Answer :-

16 o i - wu sl o
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S

3.

2Ly
4. -

Correct Answer :-

17)

FL 'WILL_.LDJ s 87 5

. ﬂiid)ljrj?df’ﬂ
S e i

L L S SF

L & LTy A

Correct Answer :-

éid}lﬁjﬁ. u%



Correct Answer :-

=23
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Correct Answer :-
Y
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Correct Answer :-



?ﬁt‘fﬁﬂuﬂl;ﬁ*glééayuﬁ/ﬂJljf?ddjurﬁUg
. )(n.,-—;}?,fj'

2 SNE gD e
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Correct Answer :-

. )//EguLiﬂhﬁ

22) a7 4 o
,f_.r:fc)_[::gf;:’;uﬂﬁu;ﬁp‘f
i
ufJb
U':.f’_.'_ij
2.
u'ff,-lf
3.
. | 1.L
4. LW

Correct Answer :-
e
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P
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Correct Answer :-

25) = B "
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2
4,

Correct Answer :-

Ve

26) i p L
e e S0 LE < i

Correct Answer :-

=

27) -~ = - —
€0nls 2t BASNTG

A1857
UA1947
51556

. 1526
Correct Answer :-

41857



h.-fl;"_i"..f'
1.
iy
2. -
3 il
N
4, uF

s P AT
V41857
1526
_ V41556
. 51947

Correct Answer :-



4 e P

Correct Answer :-

Topic:- General Hindi(L2GH)

1) ST A Tall

H, g g9 Tl

st 3 ¥ o gt e
ofaal fr R-are et AaeTE;
aoT- garerdy @, Aia 1§ wfdah,
Fad & Gl T AG ol dieett|
el I vF I AT & Sifaa afor
ST Ad Gl

A, T g Tl

JU E AT T T &, AT § T WA
forae & glstr q 3a@m & s
mm%mmmmawn%,
Rﬂﬁwﬁﬁsﬁwmm%l
S ¢ Tud FiST 3HF G F @A
BRT AG Tl

s, g g g
39T TGHIT N YGHT Al T AT YT FT I TS
9o - AN HT AT eree A€ § 2

1. faem

2. fanTedy

3. Lot

4. 3T&T

Correct Answer :-

o 3M&TT



2) BT HA FO

7, BRI g@ g

st & € e gt gera
ofaat #1 -ty et AHTa;
-Gy A I, a7 A,
$ad & pal Bt grg a1 glet|
et At Tp G a1 TR Shfad o
BT 7d AT

7, gR g@ g

I ¢ U1 IHT &, I § 1 WRATT;
fora= g1 ST 3o & wRum|
YT BT TR 9 bad GIqon 8,
e dfgeT A ol ue d Fon
<t 8 gurd B TP g FR A
BT A QAT

T, I @ gl

ST U B UgHR -1 T T UY HT 30X qargd:
U= - 3(elid & UTG A A T FA1 3 ?
1. 7 @l e ¥

2. AAT 3BT BT &

3. 9TaST 3T BT ©

4. AT UG BT &

Correct Answer :-

ofaal &t RE-1iYy Beft ATHE;
-Gy A ¥, Fia 75 A,



Fad & Fal Pt AG T i |
Yol 3 Th G I1aT g Sifad &0t
BT A AT

T, gR1 g4 g

T g AT 9 3UT §, I § -1 AAT;
foram €t et g S &t R
YT BT TR {9 Sad Jqon &,
& i1 & fsft uep 79 Fom 81
St 8 gurd HiET ITPHT G HR A
BT A AT

T, §R1 g9 gl

ST TR B UgHR -1 IS T UY HT 36 qa13d:
TR - TR U BT 2w B 2

1. o1 AR HA

2. BT AT Fell

3. BT AR 9dr

4. 919 AR goom

Correct Answer :-

4) ST Hd gl

7, gR g@ gl

st & € ¥ gt gera
ot 3t -ty Beft aruTa;
TH-JIY AW ¥, a7 i,
Had  Gal B gre I+ AigN|
YRt H T PO T T S afor
BT /A AT

T, §R1 g4 g

I ¢ U1 IHT &, W § 1 WRAT;
forerem €1 et S €t wRwET



YT BT TR T Pad Gqon 8,

& dfser # fsdt ue 39 Fon g1

<t 8 gurd B TP g FX A
BT | AT

T, I @ gl

IuYed U= ) g 19 IR T UY HT IR Id133:
U= - U U & PRI 9 SR 8 ?
1. 53

2. &3

3. fade

4. Mk

Correct Answer :-

5) ST Hd AT

T, §R1 g9 gl

ot # & g it geraht
et ot -ty Beft AvTa;
-Gy A9 7Y, i T8 arfa,
Had & ol Bt gre a4t Giet

et 3 Th 3 Ia1 g1 Siifad &for
BT /A AT

T, §R1 g9 gl

T g AT 9 3UT §, U § -1 AATT;
frerm €1 et  Sa 8t R
WY1 BT IRV T Haed GG g,
& st & fsft uep 39 pom 21
St 8 gurd HfET ITPHT G HR A
BT /A AT

T, §R1 g4 g

ST Ui Bl UgHR 19 U T UY BT IR JaIgd:



U - Rgd U A 'G@ g MG A g1 7 2
1. fomam

2. faQiyor

3. |l

4. EATH

Correct Answer :-

o faQmor

6) BT Hd FAT

T, I @ gl

st & ¥ e gt gerat
ot @1 -ty et AvTa;
- AW I8, i T8 A,
Fad & Gl I AG T dig |
Yol 3 T G I1aT g Sifad &0t
BT Hd AT

T, gR1 g4 g

T g AT 9 3UT §, T § -1 AAT;
foram €t et g Sa &t R
YT BT TR {9 Sad Jqon €,
& i1 & fsdt uep 39 Fom 81
St g gurd Hfe 3uHT g I A
BT Hd AT

T, §R1 g9 g

ST U B UgHR -1 IS T UY HT 36 qar3d:
T - s AT @RI R ?

1. 9]

2. UH

3. HFHATA

4. gIrg



Correct Answer :-

7) ST HA AT

7, gR1 g@ g

st & € e gt gera
ofaat #1 -ty et AHTa;
TH-JIY AW ¥, a7 i,
$ad & pal Bt grg a1 Giet
Y&t W TP g I g Sifaa &or
BT 7 AT

T, §N1 g9 g

I ¢ U1 IHT &, I § 1 WRATT;
foraar &t ST 9 3991 & WRum|
YT BT TR 9 bad GIqon 8,
e dfgeT A ol ue d Fon
<t 8 gurd B TP g FR A
BT A QAT

T, I @ gl

ST U B UgHR -1 T T UY HT 30X qa1gd:
R - Bfd & AR A7 I Right frads @S unrar @ 2
1. hadl GFATA

2. hdel IA

3. hdel U

4. 3P A

Correct Answer :-

o WP T

8) BHI Hd Gl

T+, I @ gl



st & & e gt gera

ofaat ot fe-tiy beft g
-Gy A I, a7 A,

$ad & pal Bt grg a1 giet|

et At Tp G a1 TR Shfad o
BT | I

7, gR1 g@ g

I ¢ U1 IHT &, I § 1 WRATT;

ora= 81 ST T 3o & wRum|

YT BT TR 9 bad GIqon 8,

e dfgeT A ol ue d Fon

<t 8 gurd B IuHT g FR A
BT | AT

T, I @ gl

ST U BT UgHR -1 T T UY HT 30X qarg:
UL - Bfd F ATIR AT BT J=AT oila= ¢ ?
1. SfigeT Y AT & Y ST

2. Shael @l dRar & |1 Sher

3. Shad @l sreufasdar # Sfar

4. Sfaet @1 IS FH S

Correct Answer :-

o Sad & AT FH SAer

9) BT #d FAT

T, gR1 g4 g

sita @ § g gitat gera

ofaa @t -ty Beft AvTa;
-Gy A9 T, Fia 7 arfae,
$ad & @al 1 gTg a4 dre |

Y&l 3 Th 3 TaT g Siifad &for

BT qd I



w1, gR g@ gl

I ¢ U1 IHT &, W § T WRAT;

v &1 e A & RwTET

TYAT BT TR S Had gaqen g,

& dfer § 5l ue v pwn R

St § gurd HfET TP G HR A

BT 9 AT

T, §R1 g4 g

S ULl B UgH 19 TR T UY BT IR JaIgd:
U - Bfd & AR & i1t Id 37 D 7 R w2 2
1. Frelt JAE T

2.9 3R HI

3. HATT-TFATH

4.7 IR Hifd

Correct Answer :-

« Tl AT T

10) ST Td I

T, I @ gl

st & & e gt gera
ofaat &t fe-tiy Beft g
-Gy 29 TE, i T8 A,
Fad Sl I AG T i
yeft T o aTaT 5X Shfaa afor
BT | AT

T+, I @ gl

I ¢ AT T &, 719 ¢ 7 HATT;
foraar 8 ST 9 3941 & WRum|
TYAT BT TR {9 bad GIqon €,
& dfse1 § fsft uep 39 om g1
Y 8 gurd HfdT ITdT  HR A



BT 0| AT

T, §R1 g4 g

I UL ®) UgH -9 U Y UY BT IR qarsd:
UT - Bfd BT B 7 39 P e 7 pear? 2

1. 30 A @l e B

2. 9@ & urf@ g ¥

3. Gl 3HTele Biel B

4. %A Yer e B

Correct Answer :-

11) ST HA I

7, gR1 g@ g

st & € e gt gera

ofaat ot fe-tiy Beft g
TH-JIY AW ¥, i T iy,

$ad & pal Bt grg a1 giet

Welt At Tp G Ia1 TR Shfad o

BT | T

7, gR1 g@ g

I ¢ U1 IHT &, 91 § 1 WRATT;

fra= 81 ST 3o & wRum|

YT BT TR fid bad GIqon 8,

e dfger A ol ue d pon 2

St § gurd HfET TP G B GO

BT | AT

T, I @ gl

Iued U= ) Ugeh? 19 U T UY HT IR Id133:
WA - R gRfaT #t 39 @) 9ie T FRea W an gar e 2
1. 976 3T Tl B

2. Hieed fA@X ST &



3. Gleed WA B 1T
4, ATTEIT T dle bl 37T &

Correct Answer :-

. Hlegd WA B AT T

12) STG1 Hd FAT

A, BTG gl

ofias & & g gftrat geraht

ofeal $t -ty Belt AT
-Gy A @, da 75 arfdE,
Fad & Fal B I g+ it |
Yot A TP G Td1 g SHfdd &or
BT ad F O

T, I @ gl

I3 3 919 34 7, 9 § 7 HEE;
e & det 9 3991 & Wy
YT $T IRV fod Saed T g,
& i1 & fsdt uep 39 Fon 81
St § gurd HfET TP G HR A
BT 7 AT

o, §HT g gl

I UL ®) UgH 9 U Y UY BT IR qargd:
U - Had & YR 3 FT 18 2

1. ST A

2. SFd dTel

3. SIFdT gTer

4. oIl AR

Correct Answer :-

13) ST41 Hd ZAT
W, Mg g

site # § g it gerait

ofagt @1 faF-viy Belt TAUTE;
-Gy A @, da 78 i,
Had & ol B gre a1 Giet|
Yeft ¥t TP T3 TIaT §¥ Shifdd &
BT Hd AT

=, §NT g g



g3 3 919 3G 7, 9 8 7 HREE;
foraar 8 ST 9 3941 & WRumT|
TYdT BT IR e bad TGO &,
& dfger # ff e I o 2
St 8 gurd HiET ITHT G HR oA
BT 9d G

T, I @ gl

ITYT TR ) U - D T UY BT ITR 134
UL - Hfd & IR <t 916 B gIg HIATE ?
1. dreel & HT

2. gigaAT
3. AT P AR BT

4. THeAdT

Correct Answer :-

o AT P HRT HAT

14) STGT Hd ZAT

H, M gE gl

sita | § I gt gerait

Bfaal & fem-1iy Teft AaHTa;
-Gy A @, St 75 i,
Fad & Pl Bl qTg g1 dlg-t|
Yeft ¥ TP T3 TIaT g Shfdd &
BT Hd BT

T, §R1 g9 g

T g G191 UG €, A9 @ 7 IATT;
foraar &t ST 4 3991 & WRumT|
YT &1 IRV fiq Fad qwn 3,
& dfger § 5l ue v pwn R
St § gurd HfET ITHT G HR Io
BT Hd AT

T, §N1 g4 g

ST U B UgHR -1 T T UY HT 30X qaTgd:

TR - U BT § H3 3 77 B {5 3R 4= T T S FeT 8 ?
1.3H @ FIg AL

2. 31dd

3. HcIeplel
4, IS

Correct Answer :-



15) /T A4 AT

A, B gE gl

Sfias # 8 93 girat gerah

ot @1 -ty et AvTa;
-0y A9 I, it 78 arfiE,
$ad & Pl @I qIG g1 i
Yot A TP G TdT g SHfdd &7
BT ad F O

T, I @ gl

I3 3 919 34 7, 9 § 7 HEE;
e & et 9 3991 & Wy
YT T IRV {99 Had JIqon 3,
& dfse1 & fsdt uep 39 Fon 81
St § gurd HfET TP G HR A
BT 9d I

T, §R1 g4 g

ITa U=IIRT ) Ughx 1d IR T UY HT IR ad134:
UM - IR $T 34 B 2

1. gait
2. it
3. T

4. d9g

Correct Answer :-

16) Ic HIY T GAR! & 7Y T T &, 3R B 7T 4T, 1@l I warar-dt e 7@t &t e & meft &
e € SR SeareT de R T SR YRM-RUd @ il TR 814 € 31 & a1avg aaR-91 81T B
I 3R T 3R 3eR MR- gt sifm= A &idh i & Wt vt wnfal ok ueifRel A 3@t 8l
Pigea-Ut = F 3@, g gART A IAPT 3R 341G 9P 7 3375 | Wil Tgh U I TS AT HIod & gR
W hapdl §S a8 AT BIod # o gl | Ie@ W Teard! A 31 1R W& At 3§ IR 1 U Giee A geaidl Iae
&1 It ore e d o 1 T 991 5 | W gAY & fa@ @Y 3T 8w oft wEt 3t v 5w ¥l <A SR A
ﬁaﬁaﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬂw-mmm%m gy ag dot Wi g1
[

ST TR B UgH 1 U Y Uy FHT 3R qaIsd:
U= - USIRET A gaR! &i {59 AR | ¢a@r ?
1.9 &

2.3 &



.09 &
4, 39T @

Correct Answer :-

o AT A

17) Ic HIY T gAR! & 7Y T T &, 3R B 7T AT, 1@l I warar-dt e 7@t 9t e & meft &
frea € I ST 9 B foraT| SR gfe-Ruid @ 3if@ IR gl € SitA & aras[g aaR-41 glex B
IDT 3R T 3R 3o MR- gt ot A &t i & Wt Iwat wwfal ok ueifREl A St 8iR
PIET-+ =P | 3T, g gaRT 3 ITHY 3R 3T 7% 7 IS | W Tgp I A TS TN o F gR
W hpdl §S a8 AT BIod § o gl | IR W Teald! A 31 R W& At 3§ IR 1 U aioe A geaidl Iae
&1 It o1 oo d o 1 T g9 5 | W gAY & fa@ Y 3T 8w oft Wt 3t v 7w ¥@t <A iR A
m@ﬁﬁwnmwﬁ%ﬁq%mﬁaﬁw—mﬁﬂmmml paawy ag def Wi g+
[

ST T DI USHR A I T YUY BT IR F4133:
TR — TTe] ® W Ibe Meg 1 3 ggi w2
1.3

2. 3cddHA

3. 3cptC
4, dr@r

Correct Answer :-

18) IPc HIY T GARI & 7Y T T Y, 3R B 7T YT, 1@l I warar-dt e @t 9t e & meft &
e € SR eaTe de R T SR YRM-Rud @ il TR 819 € 311 & 91avg aaR-91 81T B
ITDT 3R T 3R 3o MR- gt oifm= A wiidh 1 S & Wt Iwat wfal ok ueifRel A Suat 3R
PIET-+ = 3T, g gAY 3 ITHY 3R 3T 7% 7 IoTE | W Tgp I A TS TN Fo F gR
W hpdl §S a8 AT SIod § o gl | Ie@ W gealdl A 3rd R W& At S IR 1 U Sl A geaidl Iae
&1 It o1 oo d o 1 T g9 5 | W gAY & fa@ @Y 3T 8w oft Wt 3t v 7w ¥@l A iR A
m@ﬁﬁwnmwﬁ%ﬁq%mﬁaﬁw—mﬁﬂmmml paaey ag def Wi g+
[

IUad TR F TGP A9 U T Uy HT IR garsd:
TR - 3R’ WG BT AT 7 2

1. I

2. €5

3. ATk

4. ITell



Correct Answer :-

19) Ihe HIY T gANI F YA TA T Y, 3R BSP T T, 3HiEl A warar-ut fFwa @ <0 by & Tt &
fRrpad g ST A ¢ R o] IR gRY-RUid 9§ i TR g 8 S & Srav[g araR-I1 g6 b
ITD! AR FeT 3R 3R -6 gt = & et i F Tt It i SR Ui = 3Tt ik
DIgea-udl =T A @, g AR A B SR 3T TP 7 ISTE | Wl TgHR IUeT A TS U Bodt & gR
W Bepdl g3 98 AT I3 | S gl | Ier W Iealel § e 3R 8 A1 3T W B 1 31w A aeaidl I
31 I T e A o 1 o g1 S | wReg gAY & fa@ Y 3T orw oft wY Ft v o ¥ oA usiRE A
ﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬁw-wmmml Pawaey a8 def W A
|

ITYed TN B USH AR YD T ¥Y BT IR T4133:
W= - 3T & warar A & seR § 2

1. 3T

2. QUh

3. SCUET

4. ®Uh

Correct Answer :-

20) IFe PHIY A AR & 7Y TA T A, AR BSH 7T YT, AT@l I warar-dt Fea @t 9t v & el |
frpad g ST AT dg R ol SR YRY-RUid § i TR g 8 U & Sravg aaR-91 §1eR b
IADT 3R T 3R FeR MR- gt oifv= A w1t i & WSt Iwat wwfeal ok usifRel A 3@t 3R
Figga- 13 = A @, g gart A P! 3R @ 9% 7 Io13 | W TgHv 30T A TS 30t Pisd F gR
W Bepdl g3 98 AT I3 | o gl | g W Iealel § e o) 8 A1 3T W B v S A Iedid) Iae
31 I 1 gee ° o Y| ST g1 15 | IR ARt & I ot o 3g ot wgh Bt ave wa vt i wsiREi A
ﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬁw-mmmml pawaey a8 def W g
|

ITYe T B USH A YD T ¥Y BT I Td133:
TR - ‘0T FT AT g B 2

1398 & PIg

2. Td&T

3. faRaeTdr

4. 3148t

Correct Answer :-

o« 37U&T



21) IPe PHIY A AR & 7Y TA T A, AR BSH 37T YT, i@l A warar-dt Fea @t &t e & meft &
fea € I AT 9 B fraT| SR gfe-RuidR @ 3if@ IR g € SitA & aras[g aaR-41 glex B
IqDT 3N T 3R 3eR MR- gt sifm= A &t S & Wt Iwat wnfal ok ueifRet A 3@t sl
Pigea-Uit = F 3@, R gART A IAPT 3R 341G 9P 7 3375 | Wil Tgh SUST I TS AT PIod & gR
W bapdl §S a8 AT BIod # o gl | Ie@ W Teard! A 31 1R W& At 3 IR 1 U Sipe A geaidl Iae
&1 It o oo ° o 1 T g9 5 | W gAY & faa @Y 3T 8@ oft wEt 3t v 5w ¥t <A usiRET A
ﬁﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬂw—mmm%m gy ag dot Wi g
[

ST TR P UgHR A2 IR T Uy HT IR gaTsd:
U - gealgt 8 2

1. 9

2.5 @ dIg TG

3. QIQMeh

4. 3TT3qWOT

Correct Answer :-

22) I@he HIY A GART & TY= A T Y, 3R BIP ITT AT, i@l A sarar-t fHewa 36 f1 e & el d
frpad € SHA gare dg o foran| 3R gR-Ruldt @ ofd R g € Siva & Srase aaR-91 §1ex b
I 3R T 3R g iR-¢iR gardt o= F &idt 1 T & WSt Iqa! |fral SR usiRaA A ST 3R
Pigea-ul = A 3@, g gAR! A IAPT 3R 341G 9P 7 3375 | Wil Tgh U I TS AT HIod & gR
W Hopel g5 98 AT DIad | S IRt | Yoo W Iearel H gra IR & A1 3T W B 1 S A eaidl Iae
&1 It o e d o 1 T g1 S | W gAY & fa@ Y 3T 9w oft wEt 3t v 5w ¥Et A SR A
%ﬁmﬁwwmwﬁ%mlﬂ%aﬁaﬁmf—mﬁwaﬂwﬁml paawy ag éef Wi g+
|

SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
U - TSI A & fpan 2

1. oY Y 3ieT|

2. gl & psIR feam

3. AR T FHAST|

4. g § geen ferl

Correct Answer :-

23) Iahe HIY A GARI B Y1 TA T Y, 3R BIP QT AT, i@l A sarar-dt fAea 36 fi e & el o
freraa € I SRaTe 9 B | SR fe-RuidR @ 3@ IR 81 € 319 & Sras[g aaR-41 gle) B



ITD! AR FeT 3R 3R TR-9¥ gt = & &t I H Tt STt T SR Uiy = 39t iR

Pigga- 43 =Y V @, g AR A ITPT 3R TG 9P 7 3515 | W Tgh? ST A TS 3N H1sH F gR

W Hepel g5 98 3T Do | o IRl | Yoo W Iealel A gra IR & A1 3T W B 1 S A aeaidl e

&1 It o g A o 1 T g3 S | W gAY & fa@ Y 3T orw ft wEt Ft v 5w wEl A usiRET A

wmﬁwwmwﬁ%m%aﬁﬁw-wmmM| FaaEy 98 ot ot g
|

ST TR B UgH 1 D Y UY FHT 3T JaIsd:
U= - AR & Iy 3t a1 fopang i 2

1. ISl ATh Folel

2. hdcl S P BEehell

3. had 3G & ol BT

4. ST GH

Correct Answer :-

o WP T

24) Iahe HIY A GARI B Y1 TA T &, 3R BIP IGT AT, i@l A sarar-t fAewa 36 f1 e & el &
fread gt SH rare §g R foranl IR gRa-RUidR § 3ifd TR 814 8 Fu & Sravg aaR-4T gl b
IAD! AR FeT 3R 3R -6 gt = & &t i H Tt It i SR Uiy = STt ik
DIgea-udl =T A T, g AR A ITHY SR TG TP 9 ISTE | W) TgHR IUeT A TS U Bt & gR
W Hopdl g5 98 AT BIaH | o IRl | Yoo W deaiel # gra IR & A1 3T W B 1 S A aeaidl Iae
& At e e § o Y| ST 991 15| IReg gaRt & f3d Ft 3w orw o g B avE oa 3§ f usiREi A
ﬁﬁﬁwwwwﬁ%ﬁqﬁ%aﬁaﬁw-wmmml FwaaEy 98 ot ot g
[

IUed TR D1 USHR A Y T ¥Y BT IR T4133:
WA - T i Pt fqur § 2

1. el

2. ATEH

3. 3=

4. 30A1d

Correct Answer :-

25) Iahe HIY A GARI B U1 FA T Y, 3R BIP IGT AT, i@l A warar-t fAewa 36 f1 e & el &
fread gt SH qrare §g o foranl IR gRe-RUidR & 3ifd TR 814 8 Fu & Sravg aaR-4T gl b
ITD! AR FeT 3R 3R TR-6¥ gt = & &t i F Tt It i SR Uiy = STt ik
DIgea-udl =T A T, g AR A ITH SR 3G TP 9 ISTE | W) TgHR IUeT A TS AU Bt & gR
W Hopdl g3 98 AT BIeH | o IRl | Yoo W Iealel # gra 3R 8 A1 3T W B 1 S A eaidl Iae



31 I T e A o 1 o g3 1S | wReg gAY & fa@ Y 3T 3w oft w} Ft v o ¥ <A usiRE A
ﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁﬁw-mmmmlwwwm@%
|

ITYe TN B USH R IS T ¥Y BT IR T4133:
W - Vel TR H e HETaN e & 2

1. 3197 WX E@X @l

2. 371@ o fremarn

3. 19 Tl &ler

4. 31T QST

Correct Answer :-

o 3T W TR AT

26) IFe PHIY A AR & 7Y TA T A, AR BSH 7T YT, AT@l I warar-dt Fea @t 5t v & eit &
fRrpad g ST Ram dg R o] SR gRY-RUid 9§ i TR g 8 S & Sravg aaR-91 §eR b
IADT 3R T 3R 3R fiR-¢fi gt oifv= A widh 1 i & WSt Iwat wwferal ok w3 3@t 3R
Figga- 13 =¥ A @, g gart A D! 3R TG 9% 7 Io13 | W TgHv 30T A S 30t Pisd F gR
W Bepdl g8 98 AU 13 | o gl | Ier W aealel § e o) 8 A1 3T W B v 31w A Iedid) Iae
31 I 1 gee o o Y| ST g1 15 | IR ARt & I ot o 3g ot wEh Bt ave wa vt ) wsiREi A
ﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬁw-mmmml pawaey a8 def W A
|

ITYe T B UGH A IS T ¥Y BT IR Td133:
R - YA BT BT 3f 3 2

109 H Ghe el gl

2.1 H Plell HHG Bl

3.1 § &T-Urelr glelr

4. 5RTY H SATT-UTeT Bl

Correct Answer :-

o P A oATI-Urel BT

27) Ibe PHIY A AR & 7Y TA T 3, AR BSH 7T YT, AT@l I warar-dt Fea @t 9t v & eit &
fRrpad g ST A dg R o] SR gRY-RUid @ i TR g 8 U & Sravg aaR-91 §1eR b
IADT 3R T 3R FeR fiR-¢fi gt oifv= A &idt 1 i & WSt Iwat wvferal ofk il A 3@t 3R
Figga- 13 =¥ A @, g gart A P! 3R @ 9% 7 Io13 | W Tghv 30T A S 3t Pied F gR
W Bepdl g8 98 AT I3 | o gl | Ier W Iealel § e 3R 8 A1 3T W B v 31w A Iedid) Iae
31 I 1 gee ° o Y1 ST g1 15 | IR ARt & faa ot o 3F ot wgh Bt e wa vt i wsiREi A
ﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬁw-mmmml pawaey a8 def W g
|



ST TR B UgH 1 U Y UY FHT 3R JaIsd:
W - ST o1 fady weg 8 2

1. UTT STerr

2. g
3. gl
4. Gehedl

Correct Answer :-

28) Iahe HIY A GARI b U= A T Y, 3R BIP IgT AT, i@l A warar-ut fewa 3§ K1 B & et &
frraa € I TS §¢ B fraT| SR Yfe-RuidR 9 3ifE IR 81 €1 39 & Srav[g aaR-41 g1eR B
ITD! AR FeT 3R 3R TR-9¥ gt = & &t I § Tt It Tfa SR Ui = STt iR
Pigga- 43 =Y V @, g AR A ITPT 3R TG 9P 7 3515 | W Tgh? ST A TS 3N H1sH F gR
W bohdl §S a8 3TN Dot ¥ o gl | @ W geard! # ora R W@ | 3§ IR 3t T oipe | gealdl Sae
&1 It o g A o 1 T g1 S | Wi gAY & fa@ Y 3T orw ft wE} Ft v oa w@l <A usiRET A
ﬁﬁﬁwwwwﬁ%m%aﬁﬁw-wmmM| Paawy ag éef Wi g+
|

ITY TR D1 USHR A I T ¥Y BT IR T4133:
U - Do 134§ 2

1. 9t

2. AT

3. DIl A

4. e

Correct Answer :-

o BT HIT

29) IFe PHIY A AR & 7Y TA T A, AR BSH 7T YT, AT@l I warar-dt Fea @t &t v & eit |
frpad g ST A dg R o] SR YRY-Ruid 9§ i TR g 8 A & dravg aaR-91 §1eR b
IADT 3R T 3R 3R fiR-¢fi gt oifv= A widh 1 i & WSt Swat wvferal ok w3 3@t 3R
Digga- 13 =¥ A @, g gart A P! 3R TG 9% 7 Io13 | W Tghv 30T A TS 30t Piad F gR
W Bepdl g3 98 AT I3 | o gl | Ier W aealel § gra o) 8 A1 3T W A v 31w A Iedid) Iae
31 I 1 gee ° o Y| ST g1 15 | IR ARt & faa ot o 3g ot wEh Bt e wa vt i wsiREi A
ﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬁw-mmmml Paawy ag oef Wi g
|

ITYe T 61 USH AR YD T ¥Y BT I Td153:
TR - "3 IR BT TR 1 3f 7 2



1. THAT-HIHAT BT
2,319 ¥ AN HAT
3. 31@ & 37T e
4. 3@ Gel ST
Correct Answer :-

o JTHAT-HIHAT BIAT

30) IPC HIY W AR & TYA TA T A, 3R BSP g7 AT, i@l A warar-dt fewa 3§ f1 B & el &
fRrrad g 3T gram ¢ R o] IR gRY-RUid 9§ i TR g 8 U & drav[g araR-91 g6 b
ITD! AR FeT 3R 3R R-6¥ gt = & et i ¥ Tt It i SR Uiy = STt ik
PIEa-+ = | 3T, g gAY 3 STHY 3R 3T aF 7 IoTE | W Tgp I A S TN Fod F gR
W Bepdl g5 98 AT I3 | S gl | Ier W Iealel § e o) 8 A1 3T W B 1 S A edidl Iae
31 I T e A o 1 o g1 S | Wi gAY & fa@ Y 3T 9w oft wY Ft v o ¥ <M usiRET A
ﬁﬁﬁwwmwﬁ%ﬁqﬁ%aﬁaﬁw-wmmml pawaey a8 def W A
|

ITYed TN B USHR IR IS T ¥Y BT IR T4133:
UL - Yoal XS 8 ?

1. fagerst

2. S

3. dcaH

4. dgd

Correct Answer :-

. GRIST

Topic:- English (ENG)

1) Choose the synonym for the underlined word in the given sentence.

Their uncouth laughter sounded loud in the room.

1. gracious
2. suave
3. civilized

4. coarse

Correct Answer :-



e coarse

2) Choose the antonym for the underlined word in the given sentence.

The instructions look very complicated, but I will try to fix it.

1. tortuous
2. meandering
3. convoluted

4. straightforward

Correct Answer :-
« straightforward

3) Choose the appropriate suffix to get the noun form of the underlined word in the given sentence.
The Taj Mahal is a magnificent building.

1. magnificence

2. magnanimous

3. magnanimity

4. magnificently

Correct Answer :-
» magnificence

4) Choose the appropriate modal to fill in the blanks.
Ifit___ rain, they will not come.

1. can

2. may

3. might

4, should

Correct Answer :-

e should



5) Choose the appropriate adverbial clause to fill in the blank.
The stolen goods were found

1. outside the garage

2. where the dacoits usually hid things

3. in the dacoit’s hiding place

4. and the police confiscated them all

Correct Answer :-
o where the dacoits usually hid things

6) Choose the appropriate tense to fill in the blanks.
Everyday, the shop ____ at 8 in the morning.

1. will opens

2. would opened

3. opens

4. open

Correct Answer :-
e opens

7) Choose the appropriate phrase preposition to fill in the blank.
introduction, he made some pertinent remarks.

1. On way of

2. On the way

3. By way of

4. In the way

Correct Answer :-

» By way of

8) Choose the appropriate phrase to fill in the blank.
She the people standing nearby.

1. yelled at



2. yelled into
3. yelled out

4. yelled off

Correct Answer :-
» yelled at

9) Choose the appropriate articles to fill in the blanks.

_ hourat___ house is enough to give you an impression about the family that lives there.
l.a,a

2.a,an

3.an,a

4, an, an

Correct Answer :-

10) Choose the appropriate noun clause that could replace the underlined part of the given
sentence.

hurts me.
1. Cheating
2. The statement
3. That you should cheat me

4. Even the thought of his suffering

Correct Answer :-
» That you should cheat me

11) Choose the appropriate idiom to fill in the blank.
Therewillbe __ in today’s interview.

1. no holds barred

2. holding pattern

3. hold of



4, hold all

Correct Answer :-
e no holds barred

12) Choose the appropriate idiom to fill in the blank.
Despite the slump in crimes, the Superintendent has been
1. at the wrong foot of the sergeant

2. running the sergeant off her feet

3. landing the sergeant in her feet

4. rushed the sergeant into her feet

Correct Answer :-
 running the sergeant off her feet

13) Choose the appropriate determiner to fill in the blanks.
The climate of Belgavi is like _____ of Pune.

1. these

2. this

3. that

4, those

Correct Answer :-
o that

14) Choose the option that correctly changes the voice in the given sentence.
The officer asked me my name and he jotted it down.

1. I asked my name by the officer and jotted it down by him.

2. I was asked my name by the officer and it was jotted down by him.

3. My name was being asked and had been jotted down by the officer.

4. My name was asked by the officer and he jotted it down.

Correct Answer :-



» [ was asked my name by the officer and it was jotted down by him.

15) Choose the option that correctly changes the voice in the given sentence.
The captive was bound to a tree.

1. The captive was bound to a tree by someone.

2. A tree was bound to the captive by someone.

3. Someone bound the captive to a tree.

4. Someone bound the tree to a captive.

Correct Answer :-
» Someone bound the captive to a tree.

16) Choose the option that best transforms the simple sentence into a compound sentence.
To his eternal disgrace, he betrayed his country.

1. His betrayal of the country brought him disgrace.

2. He was disgraced by the betrayal of his country.

3. Eternal disgrace is the result of the country being betrayed by him.

4. He betrayed his country, and this was to his eternal disgrace.

Correct Answer :-
» He betrayed his country, and this was to his eternal disgrace.

17) Choose the option that best transforms the given interrogative sentence into an assertive
sentence.

Why waste time reading trash?

1. Is it wasting time when one reads trash all the time.
2. It is extremely foolish to waste time in reading trash.
3. Must you waste time reading trash foolishly

4. Wasting time is foolish because one reads trash, isn’t it?

Correct Answer :-

 Itis extremely foolish to waste time in reading trash.



18) Which of the following is not one of the characteristics of English Language?
1. It is evolving over the years

2. It is used for communication

3. It is inborn and need not be learnt

4. It is acquired through training

Correct Answer :-

o It is inborn and need not be learnt

19) Which of the following is true in the context of using effective teaching learning materials in
class?

1. Teaching without any materials helps in enhancing creativity
2. Use of materials fail to break the monotony of the teacher-centered classrooms
3. Use of relevant materials makes completion of the task very difficult

4. A task without any material seems quite boring and burdensome

Correct Answer :-

» A task without any material seems quite boring and burdensome

20) Read the following letter and answer the given question.

To,

Whomsoever it May Concern

I have had the pleasure of employing Joy Jen for five years. Joy has handled many responsibilities in
these five years. She has handled customer interaction, inventorying, and content writing for our
website, Joy is an intelligent, responsible, energetic lady who never loses her cool in any crisis. I am
sure that Joy will perform any responsibility given to her with care and maturity.

Yours sincerely

Susan Sanders

CEO

J.0. Enterprises

According to Susan, which of the following comments is true about Joy?
1. she will be composed in the face of a crisis

2. she will panic in the face of a crisis

3. she will handle all crisis with trepidation

4. she will handle all crisis with apprehension

Correct Answer :-



» she will be composed in the face of a crisis

21) Read the following report and answer the question given below:

Healthy Eating Mela

Students from the Ganapur High School organized a Healthy Eating Mela to spread the message of
good food habits. The competition included events like Cooking without Fire, Conjuring Salads, and
Watch the Calories. Our chief guest for the day was the famous nutritionist Ms. Kamala Madhav. She
spoke to the students about what is healthy and what is unhealthy food. The day must certainly
have found several converts from junk to healthy food.

Based on this given report, what does the author say must have been the consequence of the event?
1. Students would abandon healthy food habits and turn to junk food

2. Students would give up junk food and adopt healthy eating habits

3. Students would think that junk food is healthy and continue to eat it

4. Students would understand that junk food is not unhealthy

Correct Answer :-

» Students would give up junk food and adopt healthy eating habits

22) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India
a global manufacturing hub, by encouraging both multinational as well as domestic companies to
manufacture their products within the country. Led by the Department of Industrial Policy and
Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the
Gross Domestic Product (GDP) by the year 2025 from its current 16%. Make in India has introduced
multiple new initiatives, promoting foreign direct investment, implementing intellectual property
rights and developing the manufacturing sector. It targets 25 sectors of the economy which range
from automobile to Information Technology (IT) & Business Process Management (BPM), the details
of each can be viewed on the official site. It also seeks to facilitate job creation, foster innovation,
enhance skill development and protect intellectual property. The logo of ‘Make in India’ — a lion
made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and
national development.

Apart from making India a global manufacturing hub, the Make in India initiative seeks to do a few
more things. Which one of the following options in NOT one of them?

1. safeguard intellectual property



2. encumber skill development
3. nurture innovation

4. succor job creation

Correct Answer :-

» encumber skill development

23) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India
a global manufacturing hub, by encouraging both multinational as well as domestic companies to
manufacture their products within the country. Led by the Department of Industrial Policy and
Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the
Gross Domestic Product (GDP) by the year 2025 from its current 16%. Make in India has introduced
multiple new initiatives, promoting foreign direct investment, implementing intellectual property
rights and developing the manufacturing sector. It targets 25 sectors of the economy which range
from automobile to Information Technology (IT) & Business Process Management (BPM), the details
of each can be viewed on the official site. It also seeks to facilitate job creation, foster innovation,
enhance skill development and protect intellectual property. The logo of ‘Make in India’ — a lion
made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and
national development.

According to the passage, which of the following is not among the sectors of economy about which
details could be obtained from the official website?

1. Information Technology
2. GDP
3. BPM

4, Automobile

Correct Answer :-

» GDP

24) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India
a global manufacturing hub, by encouraging both multinational as well as domestic companies to
manufacture their products within the country. Led by the Department of Industrial Policy and
Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the
Gross Domestic Product (GDP) by the year 2025 from its current 16%. Make in India has introduced
multiple new initiatives, promoting foreign direct investment, implementing intellectual property
rights and developing the manufacturing sector. It targets 25 sectors of the economy which range
from automobile to Information Technology (IT) & Business Process Management (BPM), the details
of each can be viewed on the official site. It also seeks to facilitate job creation, foster innovation,
enhance skill development and protect intellectual property. The logo of ‘Make in India’ — a lion



made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and
national development.

Which of the following options best expounds the logo of Make in India as given in the passage?

1. the lion indicates the integral role of the foreign manufacturing sector and the gear wheels symbolize their
nation

2. the lion indicates the integral role of the multinational companies and the gear wheels symbolize the domestic
companies

3. the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the
nation

4. the gear wheels indicates the integral role of the Information Technology and the lion symbolizes the
Business Process Management (BPM)

Correct Answer :-

« the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the
nation

25) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India
a global manufacturing hub, by encouraging both multinational as well as domestic companies to
manufacture their products within the country. Led by the Department of Industrial Policy and
Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the
Gross Domestic Product (GDP) by the year 2025 from its current 16%. Make in India has introduced
multiple new initiatives, promoting foreign direct investment, implementing intellectual property
rights and developing the manufacturing sector. It targets 25 sectors of the economy which range
from automobile to Information Technology (IT) & Business Process Management (BPM), the details
of each can be viewed on the official site. It also seeks to facilitate job creation, foster innovation,
enhance skill development and protect intellectual property. The logo of ‘Make in India’ — a lion
made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and
national development.

According to the passage, which of the following is NOT one of the initiatives introduced as part of
Make in India?

1. promote foreign direct investment
2. develop the manufacturing sector
3. protect multinational companies

4. implement intellectual property rights

Correct Answer :-

 protect multinational companies



26) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent.
She was proud of their age, and saw no reason for discarding them while they were still serviceable.
Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia
she had inherited a stout set of every-day prejudices that were practically as good as new; whereas
her husband's, as she noticed, were always having to be replaced. In the early days she had fancied
there might be a certain satisfaction in taxing him with the fact; but she had long since been
silenced by the reply: "My dear, I'm not a rich man, but I never use an opinion twice if I can help it."

How did the husband’s opinions differ from the wife's?
1. They were always as good as new

2. They were always serviceable with no reason to discard
3. They were always having to be replaced

4. They were practically never having to be replaced

Correct Answer :-

o They were always having to be replaced

27) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent.
She was proud of their age, and saw no reason for discarding them while they were still serviceable.
Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia
she had inherited a stout set of every-day prejudices that were practically as good as new; whereas
her husband's, as she noticed, were always having to be replaced. In the early days she had fancied
there might be a certain satisfaction in taxing him with the fact; but she had long since been
silenced by the reply: "My dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What were practically ‘as good as new’ and inherited by the wife?
1. quaint pleasure opinions

2. everyday prejudices

3. serviceable heirlooms

4. stout set of practical ideas

Correct Answer :-



» everyday prejudices

28) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent.
She was proud of their age, and saw no reason for discarding them while they were still serviceable.
Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia
she had inherited a stout set of every-day prejudices that were practically as good as new; whereas
her husband's, as she noticed, were always having to be replaced. In the early days she had fancied
there might be a certain satisfaction in taxing him with the fact; but she had long since been
silenced by the reply: "My dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What is the implication when the author calls the wife’s opinions *heirlooms’?
1. that they gave pleasure

2. that they were about her hair

3. that they were inherited

4. that she was proud of them

Correct Answer :-

« that they were inherited

29) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent.
She was proud of their age, and saw no reason for discarding them while they were still serviceable.
Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia
she had inherited a stout set of every-day prejudices that were practically as good as new; whereas
her husband's, as she noticed, were always having to be replaced. In the early days she had fancied
there might be a certain satisfaction in taxing him with the fact; but she had long since been
silenced by the reply: "My dear, I'm not a rich man, but I never use an opinion twice if I can help it."

According to the passage, the wife’s everyday prejudices were inherited from____ ?
1. the Crown derby

2. Aunt Sophronia

3. her husband

4. her great grandmother



Correct Answer :-

» Aunt Sophronia

30) Read the poem carefully before answering question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Whose loss is the poet mourning?
1. maiden Lenore

2. forgotten lore

3. a late visitor

4, bleak December

Correct Answer :-



o maiden Lenore

31) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What is the rhythmic structure evident in the first line?
1. iambic pentameter

2. spondaic hexameter

3. anapestic monometer

4, trochaic octameter

Correct Answer :-

e trochaic octameter



32) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What does the poet eagerly wish for even in the midst of his sadness?
1. visitor
2. books
3. books of sorrow

4, tomorrow

Correct Answer :-

e tOMOIrow

33) Read the poem carefully before answering the given question:



Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Which of the following figures of speech best describes the use of the words ‘tapping’ and ‘rapping’
in lines three, four, and five?

1. Alliteration
2. Litotes
3. Personification

4. Onomatopoeia

Correct Answer :-

* Onomatopoeia

34) Read the following notice and answer the given question



Green National School, Mathura
NOTICE
28 January 2019

This is to inform all students that our school is organizing a 2 day field trip to the Wipro Industrial
Estate. The details are as follows:

Classes: VIII to X
Dates: 23 February to 25 February

Those who are keen on registering for the trip must pay 1500 rupees to Ms. Ritu, Biology teacher
before 31 January.

Principal

Where will the students be going during the field trip?
1. Mathura Industries

2. Wipro Industrial Estate

3. Biology lab in Mathura

4. Fields near the school

Correct Answer :-

e Wipro Industrial Estate

35) Read the following advertisement and answer the given question.
ADVERTISEMENT

KENDRIYA VIDYALAYA, AMEERPET

Walk-in Interview for part time SQUASH COACH on 3rd July, 2018 at 10 a.m at the Vidyalaya
campus. For more details please visit kvameer@kv.in. Eligible candidates must attend the interview
with original and attested copies of educational qualification and work experience. No TA/DA will be
paid for attending the interview.

Sd/-

Principal

What are the documents that the interviewees ought to carry to the interview?
1. Both Notarized and photocopies of documents related to education and work experience

2. Both original and attested copies of documents related to education and work experience



3. Only attested copies of documents related to education and work experience

4. Only original documents related to education and work experience

Correct Answer :-
» Both original and attested copies of documents related to education and work experience
36) Read the following poster and answer the given question
DJ SCHOOL CLUB
is
organising a Diwali Mela
to
bring light and happiness into everyone’s life
Venue: TK Stadium, North Campus
Date: 7t to 9th November
Time: 6 p.m. to 9 p.m.
Entry fee: Adults 20/- Children 5/-
Let’s make this Diwali cracker free
Sponsored by

Ronex

Which of the following statements is not true based on the information from the poster?
1. The Mela is sponsored by Ronex and organized by the DJ School Club

2. The club will charge an entry fee for those who wish to join the Mela

3. The organizers will distribute free crackers during the celebrations

4. There will be no pyro techniques displayed during the Mela

Correct Answer :-

» The organizers will distribute free crackers during the celebrations

37) Read the following letter and answer the given question.

Dear Dev



How are you? I am sure that your studies must be keeping you busy. I am glad to tell you that I
have now been selected to the theatre group. We have a play coming up next month at
Rangashankara. It is a big deal. Remember, we had once met the who’s who of theatre and cinema
at Rangashankara. Maybe, my dream might come true and someone will notice me for a small role in
the movies. Well, enough of day dreaming. How are things at your end? When is that big test of
yours? Do write to me as soon as you could.

Yours truly

Jo

According to the letter, what does Jo hope might happen at Rangashakara?

1. he will be noticed by an influential person who might offer him a role in the movies
2. he will be introduced to the greatest personalities from theatre and cinema

3. he will fumble his part in the upcoming play and lose his face

4. he will win the best actor award at the upcoming play

Correct Answer :-

» he will be noticed by an influential person who might offer him a role in the movies

38) Read the following letter and answer the given question.

To
The Recruitment Officer
Anganwadi, Bidar

Dear Sir,

I wish to apply for the post of Anganwadi worker at Bidar. I have completed my Matriculation with
First class. The Principal of my school, Bidar High School, is willing to give you a reference for my
conduct. Please consider my application. I will work hard and do my best.

Thank you.

Kishan Raj

Fill in the details based on the letter.
Name:
Post:

Education:



Referee:

1. Recruitment Officer, Anganwadi worker, 12th Grade, Principal of Bidar High School
2. Recruitment Officer, Anganwadi worker, First Class, Principal of Bidar High School
3. Kishan Raj, Recruitment Officer, Matriculation, Anganwadi worker at Bidar High School

4. Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

Correct Answer :-
» Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

39) Read the following letter and answer the given question.

To
The Editor

The Hindu

Dear Sir,

In response to the news about the Municipal Corporation of Hibbalpur converting the public park
into a bus stand, I would like to express my strong displeasure as a citizen. There are very few public
parks in the Hibbalpur locality. Moreover, shifting the bus stand there will increase pollution in an
otherwise clean residential area. The Corporation is sure to face more severe protest from the
residents of Hibbalpur in the coming week.

Yours faithfully,

Krishna Swamy

What would be the dominant tone of this letter?
1. complaisant

2. congenial

3. irate

4, insolent

Correct Answer :-

40) Read the following letter and answer the given question.



To,
Communications Skills Training

Munnar, Kerala

Dear Sir,

I write to enquire whether your company would offer a 5 day Communications skills workshop for
our new recruits at HR Customer Services, Munnar. We have a group of 25 fresh graduates who need
training in customer interaction, etiquettes, presentation and such other skills. If you could send us
the details about your training program, the cost, and the trainer profile, we could fix an
appointment accordingly.

Thank you
Manager

HR Customer Services

Which of the following are among the details that the Manager asked for from the Communications
Skills Training company?

1. the details about the program offered by Communications Skills Training
2. the profile of the new recruits at HR Customer Services
3. the cost of several communication skills materials available in the market

4. the cost of their Time Management course

Correct Answer :-

» the details about the program offered by Communications Skills Training

41) Read the following letter and answer the given question.

Dear Kaite

I hope you are well. I am waiting for the summer holidays. I'm writing to you because I want to
invite you to visit me during the holiday season. We could visit the heritage centers and museums or
spend the day at the movies or wander around the shopping malls. Let me know what you think. We
could plan everything then.

Hoping to see you.

Jainne



Which of the following is not one of the things that Jainne suggests she and Kaite could do during
the summer holidays?

1. spend the day at the movies
2. visit the heritage centers and museums
3. go swimming on the sunny beaches

4. wander around the shopping malls

Correct Answer :-
e go swimming on the sunny beaches

42) Read the following instructions and answer the given question.

Follow these guidelines when there are children with disabilities in the class.

FOR MATERIALS

+ Get audiobooks through services like Bookshare, a free online library for students with disabilities
+ Provide pictures of directions and schedules

« Use large-print text for worksheets

« Simplify directions with key words for most important ideas

» Provide colored strips or bookmarks to use when reading

According to the instructions given, which of the following options is not among the things that a
teacher should do for the students with disabilities?

1. Use audiobooks whenever possible
2. Use simple, key words to give important directions
3. Provide notes in advance for all the chapters in the text

4. Provide colored bookmarks to enable them to track their reading

Correct Answer :-

» Provide notes in advance for all the chapters in the text

43) What is one of the major drawbacks of the structural approach?
1. it taught language in meaningful contexts that learners could relate to

2. led to a fragmentation and trivialisation of thought by breaking up language into structures and skills



3. It gave learners language that could be used in real life situations instead of just the ability to use correct
sentences in classrooms

4. it bridged the gap between “linguistic age” and “mental age”

Correct Answer :-
 led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

44) What is one of the major problems faced in the implementation of the Continuous and
Comprehensive Evaluation (CCE)?

1. teachers largely consider CCE as an integral part of the assessment process
2. the teachers integrate the assessment with the teaching-learning process
3. it is considered by teachers as an external activity that is to be followed after the completion of a topic/lesson

4. it is given significant attention by teachers to integrate into the teaching learning process

Correct Answer :-

« itis considered by teachers as an external activity that is to be followed after the completion of a topic/lesson
45) What is a major aim of remedial teaching?

1. to enable detention practices that would instill fear in a child

2. to dictate notes of every chapter so that a child could learn everything by heart

3. to put a child through grueling hours of drill so that he despises learning

4. to bring a child to minimal acceptable levels in each class

Correct Answer :-

* to bring a child to minimal acceptable levels in each class

46) What is the role of grammar in teaching language?

1. sensitise the child to language-sound structures

2. develop the imagination

3. reconstruction of the meaning of the attempted expression through imperfect English

4. tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and
argumentation

Correct Answer :-



» tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and
argumentation

47) What is the one of the methods adopted by the government to tackle the challenge of the multilingual
nature of the Indian society?

1. the grammar-translation method
2. the information technology curriculum
3. the modern language policy

4. the three language formula

Correct Answer :-

« the three language formula

48) In mother tongue learning, speech progresses from ___ through ___ to
1. one word, one sentence, several sentences

2. one sentence, two sentence stage, multi-sentences

3. one phoneme, a few morphemes, multi-vowel stage

4. one word, two word stage, multi-word sentences

Correct Answer :-

» one word, two word stage, multi-word sentences

49) According to Norbert Schmit (2000) “whereas the of a language is largely in place by the
time a child is 10 years old . . ., continues to be learned throughout one’s lifetime.”

1. grammar, vocabulary
2. order, structure
3. structure, order

4. vocabulary, grammar

Correct Answer :-

e grammar, vocabulary



1. expression
2. comprehension
3. articulation

4. delivery

Correct Answer :-

» comprehension

51) Which one of the following is NOT a correct statement?
1. Writing is an important Language Skill

2. Listening is an important Language Skill

3. Reading is an important Language Skill

4. Reckoning is an important Language Skill

Correct Answer :-

» Reckoning is an important Language Skill

52) Which of the following statements is true in the context of sentence construction in a language?
1. when compared to organizing words, there is no order of organizing sentences in any language

2. Like in the case of organizing sentences, there is no order of organizing sentences in any language

3. as compared to the level of sentences, language is more tightly organised at the level of words

4. as compared to the level of words, language is more tightly organised at the level of sentences

Correct Answer :-

» as compared to the level of words, language is more tightly organised at the level of sentences

53) Which of the following is an important consideration when choosing teaching materials for a class?
1. need to be as confounding as possible in the extend of texts that will be used

2. need to be sensitive to perspectives of equity (gender and societal) and harmony

3. need to be rigid and inconsiderate to the cultural and local contexts of learning

4. need to be circuitous when deciding the concepts to be dealt with in class

Correct Answer :-



» need to be sensitive to perspectives of equity (gender and societal) and harmony
54) Which of the following is one of the aims of teaching English Poetry?

1. enable students to solve puzzles

2. enable students to write an essay

3. enable learners to prepare reports and brochure

4. enable learners to appreciate rhythm and feeling

Correct Answer :-
» enable learners to appreciate rhythm and feeling

55) In the case of English words like ‘fun’, ‘rain’, and ‘fish’, how would you convert them into
adjectives?

1. add ‘ion’ at the end
2. add ‘in’ at the beginning
3. add ‘y’ at the end

4. add ‘a’ at the beginning

Correct Answer :-

e add ‘y’ at the end

56) Choose the closest meaning of the underlined phrase in the given sentence.

The act of burying a dead person sometimes becomes mundane for an undertaker.

1. Internment
2. Interstitial
3. Interment

4, Intermittent

Correct Answer :-

¢ Interment

57) Choose the closest meaning of the underlined phrase in the given sentence.

After the event he felt weak and tired.




1. encomiastic
2. energized
3. enervated

4. engineered

Correct Answer :-

e enervated

58) Satish was out of office when he got a call from the onsite supervisor asking him to immediately send the office
assistant with the BMP approval form to the Head Office in Andheri. Govind, Satish’s colleague, has to fill the
following out of office form passing on the message.

(Name), send with to in Andheri.

1. Office assistant, Govind, BMP approval form, onsite supervisor
2. Govind, Satish, Head Office, BMP approval form
3. Satish, office assistant, BMP approval form, Head Office

4. Satish, Govind, BMP approval form, Head Office

Correct Answer :-

« Satish, office assistant, BMP approval form, Head Office
59) Change the given sentence into direct speech.

He urged them to be quiet and listen to his words.

1. He wished, “that they were quiet and listening to his words.”
2. He enquired, “are you quiet to listen to my words?”’

3. He exclaimed, “you are quiet and listening to my words!”

4. He said, “be quiet and listen to my words.”

Correct Answer :-

» He said, “be quiet and listen to my words.”

60) Change the given sentence into indirect speech.
He said to them, “will you listen to such a man?”

1. He asked them to listen to such a man



2. He asked them whether they would listen to such a man.
3. He said that they will listen to such a man.

4. He said to them that they will have to listen to such a man.

Correct Answer :-

» He asked them whether they would listen to such a man.



